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Income Tax 
Case Study: Ms. Bigshot 

In contrast to everything else on FinStart, this case study is not age-
appropriate. For the foreseeable future, most students will have little 
income and will most likely not pay any income tax. So a young 
person’s case study would not be very instructive. Instead, we present 
Ms. Bigshot, who is in the highest tax bracket, has various sources of 
income that are treated differently for tax purposes, and uses two 
registered accounts, the TFSA and RRSP. That’s a rich dataset to 
illustrate key points. 
 

No calculations required 
Problem 1 in this case study is entirely qualitative. We have prepared 
Ms. Bigshot’s income tax filing using a CRA-approved tax preparation 
software and ask students to answer questions by finding certain data 
points on it. There are two ways to do it: 

1. Using a summary table within Problem 1. 
2. Using real-life printouts of the tax forms from the software 

(in the Appendix to Problem 1). 
 

Calculations required 
Problem 2 requires calculations and is a good example of how we are 
structuring math problems in this booklet: 

• Those that require various calculations, sometimes multi-step. 

• Those that can be represented as functions and then solved, 
graphed, etc. 

• Those that are well-suited for building an Excel workbook or 
writing code (Python, Visual Basic, Java, etc.) 

 
We thought that organizing questions in this way will make them easy 
to use in various levels of core math, data management, and other 
quantitative courses (perhaps economics), and even by certain clubs. 
We look forward to hearing what you think. 
 

Terminology 
Terminology used in this case study is explained as follows: 

• Income Tax https://www.finstart.ca/income-tax.html 

• Registered accounts https://www.finstart.ca/registered-
accounts---investing.html 

• GICs https://www.finstart.ca/gics.html 

• Investments https://www.finstart.ca/investment-accounts.html 
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FinStart 

Active learning module:  
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Case Study: Ms. Bigshot 
Ms. Bigshot is a high-earning individual with tax residency in Ontario. She pays both Federal and 

Provincial income taxes. To prepare her tax return for 2019, she goes through seven steps outlined in 

the Federal Income Tax and Benefit Return form, also known as T1 General form, provided by Canadian 

Revenue Agency (CRA).  The first step is “Identification and other information”. Steps 2-7 are listed in 

the table on the next page that we use for Problem 1.  

 

When answering the questions in Problem 1, you can use either the table on the next page or Ms. 

Bigshot’s completed T1 General form, included in the Appendix. 

 

• Ms. Bigshot earned salary of $215,000 from her employer in 2019. From each paycheck the employer 

subtracted mandatory payroll deductions that add up to the following amounts for 2019: 

o $70,000 of income tax deduction.  

o $2,748.90 (the maximum allowed) contributions she made to Canada Pension Plan (i.e. CPP. 

o $860.22 (the maximum allowed) premium she paid to Employment Insurance (i.e. EI).  

• In addition, Ms. Bigshot received $20,000 of interest income from her GIC investments and had a 

$30,000 capital gain from selling her stocks (it’s called a ‘realized gain’ because the investment 

was sold).  

• She made the maximum allowed RRSP contribution of $27,320 and maximum allowed TFSA 

contribution of $6,500 (those are registered accounts).  

• She used net capital losses of $2,000 from previous year to reduce her taxes for 2019. 

Step 
Field 

Number 
Field Description Amounts Total 

Step 2:  
Total income 

10100 Employment income $215,000.00  

12100 Interest and other investment income $20,000.00  

12700 Taxable capital gains $15,000.00  

15000 Total income (sum of all the above lines in Step 2)  $250,000.00 

Step 3:  
Net income 

20800 RRSP deduction $27,230.00  

22215 
Deduction for CPP or QPP enhanced contributions on employment 
income  

$80.85  

23600 Net income (Total income less all the above deductions in Step 3)  $222,691.53 

Step 4:  
Taxable income 

25300 Net capital losses of other years $2,000.00  

26000 Taxable income (Net income less all the above deductions in Step 4)  $220,691.53 

Step 5:   
Federal tax 

Part A: 
Federal non-

refundable tax 
credits  

30800 Base CPP or QPP contributions through employment income  $2,668.05  

31200 Employment insurance premiums (maximum $860.22) $860.22  

31260 Canada employment amount  $1,222.00  

33500 Sum of all the above lines in Step 5 $16,819.27  
 Total federal non-refundable tax credit rate 15%  

35000 Total federal non-refundable tax credits  $2,522.89 

Part B: 
Federal tax on 
taxable income  

 Federal tax on taxable income  
(see detail calculations in T1 General form, Step 5, Part B) 

 $52,123.99 

Part C: 
Net federal tax  

42000 
Net Federal Tax  
(subtract non-refundable tax credits from federal tax) 

  
$50,261.10 

Step 6 – 
Provincial or 
territorial tax 

42800  

Provincial tax payable  
(calculation methodology similar to that of federal tax, however, the 
allowed deductions and tax brackets vary across provinces) 

  
$30,629.46 

Step 7: Refund or 
balance owing 

43500 Total payable  $ 80,230.56 

43700 Net income tax deducted  $70,000.00 

48500 Balance owing  $10,230.56 

Problem 1 (no calculations required) 
i. Step 2: Why is total income greater than employment income? 
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ii. Step 2: Which item from the bulleted list on the previous page did Ms. Bigshot enter as “Interest 

and other investment income”? 

iii. Step 2: Which item from the bulleted list on the previous page did Ms. Bigshot enter as “Capital 

gain”? 

iv. Step 2: Ms. Bigshot realized $30,000 of capital gains from selling her stocks. Why does her tax 

form (field 12700) shows only $15,000? 

v. Step 3: What is the reason that net income is lower than total income? 

vi. Step 3: Has Ms. Bigshot forgotten to deduct her $6,500 contribution to the TFSA from her total 

income? 

vii. Step 4: What is the reason that her taxable income is smaller than net income? 

viii. Step 4: What do you think the term “Net capital loss from previous years” means? 

ix. Step 5, Part A: What are Ms. Bigshot’s total non-refundable tax credits? 

x. Step 5, Part A: How are federal non-refundable tax credits calculated? 

 

Additional information from Ms. Bigshot’s tax filing (to be used for questions xi) to xiv): 

 

xi. Step 5, Part B: What’s Ms. Bigshot’s federal tax on taxable income? 

xii. Step 5, Part B: What tax rates are used on different portions of taxable income to calculate 

federal tax? Inspect T1 General form, Step 5, Part B and find the relevant line. 

xiii. Step 5, Part B: The Canadian tax system is called progressive. This means that the tax rate 

increases as the taxpayer makes more money. Justify this statement using the above table.  

xiv. Step 5, Part B: What’s Ms. Bigshot’s net federal tax on taxable income? 

xv. Step 5, Part C: How are federal non-refundable tax credits used to calculate net federal tax? 

xvi. Step 6: What’s Ms. Bigshot’s provincial tax payable? 

xvii. Step 7: What’s Ms. Bigshot’s total tax payable (the sum of federal and provincial taxes)? 

xviii. Step 7: Why is Ms. Bigshot’s balance owing smaller than total tax payable? 

xix. Are there any other taxes that Ms. Bigshot needs to pay in addition to income tax?  
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Problem 2 (calculations required) 
i. What is the average percentage tax rate that Ms. Bigshot pays on her total income? 

ii. Before she submitted her tax filing, Ms. Bigshot noticed that she forgot to declare $1,000 of 

interest earned in her bank saving account. When she included this amount in the T1 General 

form, she noticed that her total tax payable increased to $80,765.86 from $80,230.56. What is 

the marginal tax that Ms. Bigshot is subject to? 

iii. If Ms. Bigshot had not contributed $27,230 to her RRSP, how much more would she pay in 2019 

tax year? [Hint: use the marginal tax rate]. 

iv. Do you think that Ms. Bigshot will ever pay income tax on the $27,230 she contributed to RRSP? 

v. If the CRA had declared that $30,000 should be treated as interest income rather than capital 

gain, how much more would Ms. Bigshot pay in the 2019 tax year? [Hint: use the marginal tax 

rate and account for the difference in tax treatment between interest income and capital 

gains]. 

vi. The following table contains marginal tax brackets for combined federal and provincial Ontario 

taxes. Using thie table, calculate total tax payable (federal plus provincial) on taxable income 

of $220,691.53. Compare the results to the previously calculated number (field 43500) and 

comment on the accuracy of the approximate method. 

Taxable Income Upper Bound  Marginal Tax Rate 

$12,069.00 0.00% 

$43,906.00 20.05% 

$47,630.00 24.15% 

$77,313.00 29.65% 

$87,813.00 31.48% 

Ty  hu t 33.89% 

$95,259.00 37.91% 

$147,667.00 43.41% 

$150,000.00 46.41% 

$210,371.00 47.97% 

$220,000.00 51.97% 

 53.53% 

 

vii. Write a mathematical function where the independent variable x is Taxable Income and the 

dependent variable y is Total Payable Tax. 

viii. Write a program code (Python, VBA, Java, etc.) or build an Excel workbook to implement the 

above mathematical function. Run the program for different values of Taxable Income and plot 

the results in x (Taxable Income) and y (Total Payable Tax) coordinates. 
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Appendix 

Federal Tax: T1 General form 
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Provincial (Ontario) Tax Form 
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CPP Contributions 
 

https://www.canada.ca/en/revenue-agency/services/tax/businesses/topics/payroll/payroll-

deductions-contributions/canada-pension-plan-cpp/cpp-contribution-rates-maximums-

exemptions.html 

 

Year Maximum 
annual 

pensionable 
earnings 

Basic 
exemption 

amount 

Maximum 
contributory 

earnings 

Employee 
and 

employer 
contribution 

rate (%) 

Maximum 
annual 

employee 
and 

employer 
contribution 

Maximum annual self-
employed contribution 

2020 $58,700 $3,500 $55,200 5.25 $2,898.00 $5,796.00 

2019 $57,400 $3,500 $53,900 5.10 $2,748.90 $5,497.80 

 

EI Premia 
https://www.canada.ca/en/revenue-agency/services/tax/businesses/topics/payroll/payroll-

deductions-contributions/employment-insurance-ei/ei-premium-rates-maximums.html 

 

Year 
Maximum annual 

insurable earnings Rate (%) 
Maximum annual 

employee premium 
Maximum annual 

employer premium 

2020 $54,200 1.58 $856.36 $1,198.90 

2019 $53,100 1.62 $860.22 $1,204.31 
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Solutions – Income Tax 

Case Study: Ms. Bigshot 

Solution 1 
i. Total income includes all sources of income, including employment income. In the case of Ms. 

Bigshot, it includes interest from GICs and capital gains from selling stocks. Other items that 

can be included in total income are dividends, rental income, various benefits received (Canada 

Pension Plan, old age security, disability, child care), employment-related insurance payments 

received  (employment insurance, maternity payments, disability payments, support payments, 

wage replacements), pension payments, RRSP withdrawals, RESP withdrawals, and others. 

ii. An example of “Interest and other investment income” is interest payments received from GICs 

(Guaranteed Investment Certificates) and savings accounts. Dividends received from non-

Canadian companies are also treated as interest for tax purposes. 

iii. An example of capital gain is a gain from selling stocks, ETFs or mutual funds. Investors in 

mutual funds can also have capital gains without selling their units of mutual funds. They will 

see those capital gains on T3 or T5 tax slips. 

iv. Although Ms. Bigshot realized $30,000 of capital gains from selling her stocks, only 50% of this 

gain is taxable. This is why her tax form (field 12700) shows only $15,000 instead of $30,000. 

Capital gains are much more tax-efficient than interest income. 

v. Net income is calculated by subtracting multiple deductions from total income. Deductions 

lower income tax. High tax bracket taxpayers benefit from deductions more than low tax 

bracket taxpayers. Examples of deductions are: a pension plan contribution, RRSP 

contribution, professional/union dues, selected child care expenses, part of CPP 

contributions, and employment expenses. 

vi. It is true that Ms. Bigshot made $6,500 contribution to the TFSA. However, TFSA contributions 

are not treated as tax deductions (unlike RRSP contributions, which are considered tax 

deductions). 

vii. Taxable income is calculated by subtracting additional deductions and loses from net income. 

Ms. Bigshot claims $2000 of capital losses from previous years to calculate taxable income. 

Taxable income is used as a basis for calculating both federal and provincial income tax. 

viii. An example of net capital loss from previous years is a loss on selling a stock at a lower price 

than the purchase price - in 2018 or earlier years. Capital losses can be used to offset any 

capital gains in the same calendar year or can be ‘carried forward’ and claimed in future years. 

ix. Ms. Bigshot’s total non-refundable tax credits include a basic personal amount ($12,069), 

Canada employment amount ($1,222), base CPP contribution ($2,668.05) and Employment 

Insurance ($860.22). Other items that are considered as tax credits are: tuition and textbooks 

amounts, interest paid on student loans, age amount (for those at 65 and above), spouse or 

common law partner amount, amount for eligible dependent, caregiver amounts, firefighter 

and search & rescue volunteers’ amount, home buyers amount, home accessibility expenses, 

adoption expenses, disability amounts, medical expenses and some pension income. 

x. Tax credits are amounts that reduce the tax you pay on your taxable income. All federal non-

refundable tax credits are summed up together and multiplied by 15% to get the dollar amount 

that can be used to reduce the tax you pay on taxable income. The 15% is the lowest federal 

tax rate applicable to taxable income up to $47,630. The above calculation method ensures 

that non-refundable tax credits have the same dollar value for both low-tax-rate (15%) 

individuals and high-tax-rate (33%) individuals. This is in contrast to tax deductions that have 
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higher dollar value for high-tax-rate individuals. In general, the non-refundable tax credits must 

be used in the current tax year. Any tax credit in excess of payable taxes is left unused. Only 

some non-refundable tax credits such as “tuition education and textbook amounts” can be 

carried forward to future years or transferred to parents/guardians. 

xi. Ms. Bigshot’s federal tax on taxable income is $52,123.99 (as per field 42). 

xii. Different portions of taxable income are subject to different tax rates. T1 General form, Step 

5, Part B shows what feral tax is applied to what part of taxable income. The answer is 

summarized in the table below: 

 

 

xiii. The table above illustrates that, indeed, the tax rate increases (i.e. progresses) from 15% to 

33% with the growing taxable income. This is why the Canadian tax system is called progressive. 

xiv. Ms. Bigshot’s net federal tax on taxable income is $49,501.10 as per field 42000. 

xv. To calculate net federal tax, we start with federal tax on taxable income of $52,123.99 and 

subtract from it total federal non-refundable tax credits of $2,522.89. 

xvi. Ms. Bigshot’s provincial tax payable is $30,629.46 as per field 42800. Calculation of provincial 

tax follows similar logic to that used in federal tax calculations. However, additional deductions 

and tax credits are introduced, different tax brackets and tax rates are used, and additional 

surcharges may be applied. Details can be found in the filled provincial tax forms included in 

the Appendix. 

xvii. Ms. Bigshot’s total tax payable, i.e. the sum of federal and provincial taxes, is $80,230.56 as 

per field 43500? 

xviii. Ms. Bigshot’s balance owing of $10,230 is less than the total tax payable of $80,230.56 because 

she has already paid $70,000 in taxes throughout the year. Canadian employers must deduct 

the estimated income taxes and other statutory deductions (CPP contributions, EI premium) 

from each paycheck. In the case of Ms. Bigshot, the deductions were not sufficient as the 

employer was unaware of her investments. Quite likely, the CRA will ask that Ms. Bigshot pay 

tax by installment in the tax year 2020 to ensure that her balance owing does not exceed $2000. 

xix. In addition to income taxes, Ms. Bigshot pays 13% HST (Harmonized Sales Tax) on nearly all 

purchases she makes throughout the year (she lives in Ontario; the tax will differ in other 

provinces). If she spends $50,000, she will pay $6,500 in HST. If Ms. Bigshot lives in a house or 

a condo, she pays property tax. The tax will vary based on the municipality and the market 

value of the house. One could roughly estimate that she would pay between $8,000 to $15,000 

in property taxes. 

xx. The average tax rate in percent that Ms. Bigshot pays on her total income can be calculated as 

$80,230.66 / $250,000 which is around 32.09%, i.e. roughly one third of her total income. 

xxi. The marginal tax that Ms. Bigshot is subject to can be calculated as ($80,765.86 - $80,230.56) 

/ $1000 = 53.53%, i.e. the highest marginal tax bracket for Ontario tax payers.  The marginal 

tax can be used to calculate how much income tax Ms. Bigshot needs to pay on each additional 

dollar of taxable income 

xxii. If Ms. Bigshot had not contributed $27,230 to her RRSP, her taxable income would have been 

$27,230 higher. On that higher income she would pay additional income tax at the marginal tax 

of 53.53%. Thus, her additional tax would be $27,230 * 53.53% = $14,576.22. This calculation 

Taxable Income 
Tax Rate 

More Than Not More Than 

 $                    -     $       47,630.00  15.00% 

 $        47,630.00   $       95,259.00  20.50% 

 $        95,259.00   $     147,667.00  26.00% 

 $      147,667.00   $     210,371.00  29.00% 

 $      210,371.00    33.00% 
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demonstrates that the RRSP deduction is worth a lot to a high-tax-bracket individual. The same 

deduction for a taxpayer in the 20% tax bracket would be worth only $27,230 * 20% = $5,446. 

Thus, a high-tax-bracket individual gets $9,130 more in tax savings than the low-tax-bracket 

individual on the maximum allowed RRSP contribution. 

xxiii. Ms. Bigshot will pay income tax when she withdraws her money from the RRSP. While in the 

RRSP, her money will grow tax-free. Ms. Bigshot’s strategy is to withdraw money from the RRSP 

in the future when her marginal tax bracket will be lower.  To illustrate how this strategy might 

work, imagine that Ms. Bigshot has loses her job in 2020 and in 2021 her only income is $15,000 

from investments. That year, she withdraws $27,230 from her RRSP. Her marginal tax bracket 

is 20%, and thus, her tax is $5,446. Thus, on the $27,230 income she paid tax of $5,446 in 2021 

instead of paying tax of $14,567.22 in 2019. This tax strategy allowed Ms. Bigshot to save $9,130 

in taxes. 

xxiv. If the CRA had declared that $30,000 should be treated as interest income rather than capital 

gain, Ms. Bigshot would have to pay tax on the whole $30,000 instead of $15,000 that she 

included in her 2019 taxable income (recall that only half of capital gains is taxable, and thus, 

only 50% * $30,000 = $15,000 was included in her 2019 taxable income). Consequently, Ms. 

Bigshot would need to pay tax on additional $15,000 at her marginal tax bracket of 53.53%, i.e. 

$8.029.50 (53.53% * $15.000). 

 

Solution 2 
i. The average tax rate (in percent) that Ms. Bigshot pays on her total income can be calculated 

as $80,230.66 / $250,000, which is around 32.09%, i.e. roughly one third of her total income. 

ii. The marginal tax that Ms. Bigshot is subject to can be calculated as ($80,765.86 - $80,230.56) 

/ $1000 = 53.53%, i.e. the highest marginal tax bracket for Ontario taxpayers. The marginal tax 

can be used to calculate how much income tax Ms. Bigshot needs to pay on each additional 

dollar of taxable income. 

iii. If Ms. Bigshot had not contributed $27,230 to her RRSP, her taxable income would be $27,230 

higher. On that higher income she would pay additional income tax at the marginal tax of 

53.53%. Thus, her additional tax would be $27,230 * 53.53% = $14,576.22. This calculation 

demonstrates that the RRSP deduction is worth a lot to a high-tax-bracket individual. The same 

deduction for a taxpayer in 20% tax bracket would be worth only $27,230 * 20% = $5,446. Thus, 

a high-tax-bracket individual gets $9,130 more in tax savings than the low-tax-bracket 

individual on the maximum allowed RRSP contribution. 

iv. Ms. Bigshot will pay income tax when she withdraws her money from the RRSP. While in the 

RRSP, her money will grow tax free. Ms. Bigshot’s strategy is to withdraw money from the RRSP 

in the future when her marginal tax bracket is lower. To illustrate how the strategy might work 

imagine that Ms. Bigshot loses her job in 2020 and in 2021 her only income is $15,000 from 

investments. That year she withdraws $27,230 from her RRSP. Her marginal tax bracket is 20%, 

and thus, her tax is $5,446. Thus, on the $27,230 income she paid tax of $5,446 in 2021 instead 

of paying tax of $14,567.22 in 2019. This tax strategy allowed Ms. Bigshot to save $9,130 in 

taxes. 

v. If the CRA had declared that $30,000 should be treated as interest income rather than capital 

gain, Ms. Bigshot would have to pay tax on the whole $30,000 instead of $15,000 that she 

included in her 2019 taxable income (recall that only half of capital gains is taxable, and thus, 

only 50% * $30,000 = $15,000 was included in her 2019 taxable income). Consequently, Ms. 

Bigshot would need to pay tax on additional $15,000 at her marginal tax bracket of 53.53%, i.e. 

$8.029.50 (53.53% * $15.000). 
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vi. In the table below, taxable income of $220,691.53 is allocated to each tax bracket from the 

lowest to the highest – see column “Taxable Income per Bracket”. For each bracket, the tax 

amount is calculated by multiplying values in the column “Marginal Tax Rate” by values in the 

column “Taxable Income per Bracket”. The results are stored in the column “Tax Amount per 

Bracket”. The “TOTAL Tax Amount” of $80,247.07 is the sum of all values in the column “Tax 

Amount per Bracket”. The value is about $16.50 higher than the tax calculations of $80,230.66 

on T1 General form. This simple method produces a good approximation of tax payable. 

Taxable Income Upper Bound  Marginal Tax Rate Taxable Income per Bracket Tax Amount per Bracket 

 $12,069.00  0.00%  $12,069.00   $- 

 $43,906.00  20.05%  $31,837.00   $6,383.32  

 $47,630.00  24.15%  $3,724.00   $ 899.35  

 $77,313.00  29.65%  $29,683.00   $8,801.01  

 $87,813.00  31.48%  $10,500.00   $3,305.40  

 $91,101.00  33.89%  $3,288.00   $1,114.30  

 $95,259.00  37.91%  $4,158.00   $1,576.30  

 $147,667.00  43.41%  $52,408.00   $22,750.31  

 $150,000.00  46.41%  $2,333.00   $1,082.75  

 $210,371.00  47.97%  $60,371.00   $28,959.97  

 $220,000.00  51.97%  $9,629.00   $5,004.19  

 53.53%  $691.53   $ 370.18  

  TOTAL Taxable Income TOTAL Tax Amount 

 

vii) The following is a piecewise function where the independent variable x is Taxable Income and 

the dependent variable y is Total Payable Tax. 

The function is defined by 12 equations because there are 12 tax brackets. Each equation has 

the same format: 

y = a + (x-L) * b  

where 

• a is the cumulative tax payable as per the table in the problem above 

• b is the tax rate in each tax bracket as per the table in the problem above 

• L is the lower bound of the tax bracket 

 Function y= a + (x – L) *b  Domain of x  

  y = $0.0    x ≤ $12,069  

  y =  ( x - $12,069.0 ) * 20.05%   $12,069 < x ≤ $43,906  

  y =  $6,383.32 + ( x - $43,906.0 ) * 24.15%   $43,906 < x ≤ $47,630  

  y =  $7,282.66 + ( x - $47,630.0 ) * 29.65%   $47,630 < x ≤ $77,313  

  y =  $16,083.67 + ( x - $77,313.0 ) * 31.48%   $77,313 < x ≤ $87,813  

  y =  $19,389.07 + ( x - $87,813.0 ) * 33.89%   $87,813 < x ≤ $91,101  

  y =  $20,503.38 + ( x - $91,101.0 ) * 37.91%   $91,101 < x ≤ $95,259  

  y =  $22,079.68 + ( x - $95,259.0 ) * 43.41%   $95,259 < x ≤ $147,667  

  y =  $44,829.99 + ( x - $147,667.0 ) * 46.41%   $147,667 < x ≤ $150,000  

  y =  $45,912.73 + ( x - $150,000.0 ) * 47.97%   $150,000 < x ≤ $210,371  

  y =  $74,872.70 + ( x - $210,371.0 ) * 51.97%   $210,371 < x ≤ $220,000  

  y =  $79,876.89 + ( x - $220,000.0 ) * 53.53%   $220,000 < x   
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The above piecewise function is plotted in red below, in the x (Taxable Income) and y (Total Payable 

Tax) system of coordinates for values of x from 0 to $250,000. The plot also includes a blue straight 

line that shows Total Payable Tax if the same lowest tax rate of 20.05% was applied to all the tax 

brackets, i.e. the tax rate was constant. The steepening red line when compared to the blue line 

illustrates the concept of progressive taxation in Canada. 
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Terms of Service 
FinStart's goal is to educate. 

The information on the Site is provided for general information only and is not exhaustive. We aim to update the Site as needed. However, the 
information can change without notice we cannot guarantee that it will always be accurate and error-free.  Please do your own research to verify for 

yourself the ideas you find on this Site. 

FinStart © not a financial services firm. The information on this Site does not constitute advice of any kind and does not nor should it replace competent 
financial services, legal, accounting and other professional advice.  Please do not rely on this information to make financial or investment decisions 
and seek independent advice as required for your purposes.  

We do not warrant that your use of the Site, the operation or function of the Site, or any services offered through or from the Site, will be uninterrupted, 
that defects will be corrected, or that this Site or its server are free of viruses or other harmful elements.  

Therefore, FinStart or its contributors shall not be liable for any damages related to your use or inability to use this Site, including without limitation 
direct, indirect, special, compensatory or consequential damages, lost profits or loss of or damage to property.   

If you are dissatisfied with the Site, any of its contents, or any of our terms, kindly contact us directly. 

Proprietary Materials. The website and all associated educational resources are owned and operated by FinStart.ca. The visual interfaces, graphics, 
design, compilation, information, computer code (including source code or object code), software, services, content, educational videos and exercises, 
lesson plans, and all other elements are protected by Canadian and international copyright, patent, and trademark laws, international conventions, and 
other applicable laws governing intellectual property and proprietary rights. Except for any user content provided and owned by users, all content and 

trademarks, service marks, and trade names, contained on or available through the website are owned by or licensed to FinStart.ca. 

Licensed Educational Content. FinStart.ca may make available on the Website certain educational videos, exercises, and related supplementary materials 
that are owned by it or its third-party licensors. FinStart.ca may grant to you in writing a non-exclusive, non-transferable right to access and use such 
content solely for agreed-upon one-time non-commercial use in a specified classroom setting.  

Crediting FinStart.ca. If you distribute, publicly perform or display, transmit, publish, or otherwise make available any licensed educational content or 
any derivative works thereof, you must also provide prominently the following notice: “All FinStart content is available for free at www.finstart.ca”. 

Third-Party Sites, Products and Services. The website may include links or references to other web sites or services solely as a convenience to users. 
FinStart.ca does not endorse any such reference sites or the information, materials, products, or services contained on or accessible through them. 
Access and use of reference sites, including the information, materials, products, and services on or available through reference sites is solely at your 
own risk.  

No Warranties. The website, and all data, information, software, website materials, content, user content, reference sites, lesson plans, additional 
educational resources, services, or applications made available in conjunction with or through the website, are provided on an “as is”, “as available”, 
and “with all faults” basis. To the fullest extent permissible pursuant to applicable laws, FinStart.ca and its affiliates and licensors, disclaim any and all 
warranties and conditions, whether statutory, express or implied, including, but not limited to, all implied warranties of merchantability, fitness for a 
particular purpose, title, and non-infringement. No advice or information, whether oral or written, obtained by you from FinStart.ca or through the 
website will create any warranty not expressly stated herein.  

Content. FinStart.ca, and its suppliers, licensors, and affiliates, do not warrant that the website or any data, user content, functions, or any other 
information offered on or through the website will be uninterrupted, or free of errors, viruses or other harmful components, and do not warrant that any 

of the foregoing will be corrected.  

Harm to Your Computer. Users understand and agree that their use, access, download, or otherwise obtaining of content, website materials, software, or 
data through the website (including through any APIs) is at their own discretion and risk, and that they will be solely responsible for any damage to their 
property (including their computer systems) or loss of data that results therefrom. 

 

FinStart for Teachers. FinStart makes available certain resources to teachers who register with us such that they can use them to work with students in 
order to provide such students with tutorial or educational services as part of the school's curriculum or as an extra-curricular activity, and to review and 
evaluate educational achievement and progress of such students. If you are accessing our resources on behalf of a school, school district, or any 

educational institution, the following terms apply to you: 

(a) Limitations on Use. FinStart's website and resources are provided to you for educational purposes as part of the school curriculum. You must use them 
in compliance with all applicable laws, rules, and regulations. You agree not to reproduce, duplicate, copy, sell, resell or otherwise exploit for any 
commercial purpose, any portion of our website or any resources we share with you. 

(b) Responsibility for Consent and Notices. You and your school assume sole responsibility for obtaining any consents required from parents or guardians, 
and for providing appropriate disclosures to users and their parents regarding their use of our resources and our terms of use. You agree to be bound by 

these terms. Specifically you agree, individually and on behalf of the institution, that: 

(i) You assume sole responsibility for providing appropriate notices and disclosures to students accessing our resources for classroom use and their parents 

regarding the students' use of our website and any resources we share with you and our terms. 

(ii) You assume sole responsibility for obtaining any consents required from parents or guardians in connection with accessing our website and other 
resources for classroom use. You represent and warrant to FinStart that, prior to using our website and resources with students, you have either obtained 
all necessary parent or guardian consents, or have complied and will comply with all applicable requirements of an exemption from or exception to 

parental consent requirements.  

(c) Use of Integrated Services. If you choose to allow your students to use another service, such as Google Classroom, in conjunction with using FinStart's 
website and other resources, you are responsible for educating your students on the proper use of integrated services.  

 
 


